



TOPIC: 9 - PARSEVAL'S THEOREM

Parseval's Theorem:

Let
$$f(x)$$
 be a periodic function with $f(x)$ be a periodic function with period $g(x)$, defined in the interval $(-\pi, \pi)$. Then

$$\frac{1}{2\pi} \int_{-\pi}^{\pi} [f(x)]^2 d(x) = \frac{ao^2}{4} + \frac{1}{2} \int_{n=1}^{\infty} [an^2 + bn^2]$$





Sel:

$$R.M.S = \int_{0}^{\pi} [f \cos^{2} dx] = \int_{0}^{\pi} (\pi - x) dx$$

$$= \int_{0}^{\pi} [f \cos^{2} dx] = \int_{0}^{\pi} (\pi - x) dx$$

$$= \int_{0}^{\pi} \frac{(\pi - x)^{3}}{2\pi} e^{\pi x} = \int_{0}^{\pi} \frac{\pi^{3} + \frac{\pi^{3}}{3}}{2\pi}$$

$$= \int_{0}^{2\pi^{3}} \frac{\pi^{3}}{3 \cdot 2\pi} = \int_{0}^{\pi^{2}} \frac{\pi^{3} + \frac{\pi^{3}}{3}}{2\pi}$$

$$R.M.S = \frac{\pi}{\sqrt{3}}$$

$$= \frac{\pi}{\sqrt{3}}$$





$$\frac{1}{9} \frac{\sqrt{31}^{4} - 2}{5} \frac{1}{9} = \frac{2}{n^{2}} \frac{1}{n^{4}}$$

$$\frac{18\pi^{4} - 10\pi^{4}}{45} = \frac{1}{n^{2}} \frac{1}{n^{4}}$$

$$\frac{3\pi^{4}}{45} = \frac{2}{n^{2}} \frac{1}{n^{4}}$$

$$\frac{3\pi^{4}}{45} = \frac{2}{n^{2}} \frac{1}{n^{4}}$$

$$\frac{3\pi^{4}}{45} = \frac{2}{n^{2}} \frac{1}{n^{4}}$$

$$\frac{3\pi^{4}}{45} = \frac{2}{n^{2}} \frac{1}{n^{4}}$$

$$\frac{3\pi^{4}}{90} = \frac{2}{n^{2}} \frac{1}{n^{4}}$$

$$\frac{3\pi^{4}}{90} = \frac{2}{n^{4}} \frac{1}{n^{4}}$$

$$\frac{1}{90} = \frac{2}{n^{4}} \frac{1}{n^{4}}$$

$$\frac{1}{19} + \frac{1}{24} + \frac{1}{34} + \dots = \frac{\pi^{4}}{10}$$

$$\frac{1}{19} + \frac{1}{24} + \frac{1}{34} + \dots = \frac{\pi^{4}}{10}$$

$$\frac{1}{19} + \frac{1}{24} + \frac{1}{34} + \dots = \frac{\pi^{4}}{10}$$

$$\frac{1}{19} + \frac{1}{24} + \frac{1}{34} + \dots = \frac{\pi^{4}}{10}$$

$$\frac{1}{19} + \frac{1}{24} + \frac{1}{34} + \dots = \frac{\pi^{4}}{10}$$

$$\frac{1}{19} + \frac{1}{24} + \frac{1}{34} + \dots = \frac{\pi^{4}}{10}$$

$$\frac{1}{19} + \frac{1}{24} + \frac{1}{34} + \dots = \frac{\pi^{4}}{10}$$

$$\frac{1}{19} + \frac{1}{24} + \frac{1}{34} + \dots = \frac{\pi^{4}}{10}$$

$$\frac{1}{19} + \frac{1}{24} + \frac{1}{34} + \dots = \frac{\pi^{4}}{10}$$

$$\frac{1}{19} + \frac{1}{24} + \frac{1}{34} + \dots = \frac{\pi^{4}}{10}$$

$$\frac{1}{19} + \frac{1}{24} + \frac{1}{34} + \dots = \frac{\pi^{4}}{10}$$

$$\frac{1}{19} + \frac{1}{24} + \frac{1}{34} + \dots = \frac{\pi^{4}}{10}$$

$$\frac{1}{19} + \frac{1}{24} + \frac{1}{34} + \dots = \frac{\pi^{4}}{10}$$

$$\frac{1}{19} + \frac{1}{24} + \frac{1}{34} + \dots = \frac{\pi^{4}}{10}$$

$$\frac{1}{19} + \frac{1}{24} + \frac{1}{34} + \dots = \frac{\pi^{4}}{10}$$

$$\frac{1}{19} + \frac{1}{24} + \frac{1}{34} + \dots = \frac{\pi^{4}}{10}$$

$$\frac{1}{19} + \frac{1}{24} + \frac{1}{34} + \dots = \frac{\pi^{4}}{10}$$

$$\frac{1}{19} + \frac{1}{24} + \frac{1}{34} + \dots = \frac{\pi^{4}}{10}$$

$$\frac{1}{19} + \frac{1}{24} + \frac{1}{34} + \dots = \frac{\pi^{4}}{10}$$

$$\frac{1}{19} + \frac{1}{24} + \frac{1}{34} + \dots = \frac{\pi^{4}}{10}$$

$$\frac{1}{19} + \frac{1}{24} + \frac{1}{34} + \dots = \frac{\pi^{4}}{10}$$

$$\frac{1}{19} + \frac{1}{24} + \frac{1}{34} + \dots = \frac{\pi^{4}}{10}$$

$$\frac{1}{19} + \frac{1}{24} + \frac{1}{34} + \dots = \frac{\pi^{4}}{10}$$

$$\frac{1}{19} + \frac{1}{24} + \frac{1}{34} + \dots = \frac{\pi^{4}}{10}$$

$$\frac{1}{19} + \frac{1}{24} + \frac{1}{34} + \dots = \frac{\pi^{4}}{10}$$

$$\frac{1}{19} + \frac{1}{19} + \frac{1}{19}$$





$$\frac{1}{J^{2}} \frac{\sqrt{3}}{\sqrt{5}} - \frac{2}{9} \frac{\pi}{1}^{4} = \sum_{n=1}^{\infty} \frac{1}{n^{4}}$$

$$\frac{18\pi^{4} - 10\pi^{4}}{45} = \frac{16}{10^{4}} \sum_{n=1}^{\infty} \frac{1}{n^{4}}$$

$$\frac{3\pi^{4}}{45} = \sum_{n=1}^{\infty} \frac{1}{n^{4}}$$

$$\frac{3\pi^{4}}{45} = \sum_{n=1}^{\infty} \frac{1}{n^{4}}$$

$$\frac{\pi^{4}}{90} = \sum_{n=1}^{\infty} \frac{1}{n^{4}}$$

$$\frac{\pi^{4}}{19} + \frac{1}{24} + \frac{1}{34} + \dots = \frac{\pi^{4}}{10}$$

$$\frac{\pi^{4}}{19} + \frac{1}{24} + \frac{1}{34} + \dots = \frac{\pi^{4}}{10}$$

$$\frac{\pi^{4}}{19} = \sum_{n=1}^{\infty} \frac{1}{n^{4}}$$

$$\frac{\pi^{4}}{19} = \frac{\pi^{4}}{19} + \frac{\pi^{4}}{19} + \frac{\pi^{4}}{19} + \frac{\pi^{4}}{19}$$

$$\frac{\pi^{4}}{19} = \sum_{n=1}^{\infty} \frac{1}{n^{4}}$$

$$\frac{\pi^{4}}{19} = \sum_{n=1}^{\infty} \frac{1}$$





$$\frac{2}{2} \left(\frac{x^{3}}{3} \right)_{0}^{2} = \frac{l^{2}}{2} + \frac{z}{n=0} \frac{16 l^{2}}{n+\pi+1}$$

$$\frac{2}{2} \frac{l^{2}}{3} = \frac{l^{2}}{2} + \frac{16 l^{2}}{\pi + n=0} \frac{16 l}{n+\pi+1}$$

$$\frac{2l^{2}}{3} - \frac{l^{2}}{2} = \frac{16 l^{\frac{7}{4}}}{\pi + 1} \frac{1}{10} + \frac{1}{34} + \frac{1}{54} + \cdots$$

$$\frac{l^{2}}{6} \frac{\pi 4}{16 l^{2}} = \frac{1}{14} + \frac{1}{34} + \frac{1}{54} + \cdots$$

$$\frac{\pi^{4}}{9b} = \frac{1}{14} + \frac{1}{34} + \frac{1}{54} + \cdots$$